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. > Digits:=30; V2 !

%x:=10;

for i from 1 to 10 do
Xi=. 5% {x+2/%);

od;

Digirs =30
x:=10
x := 5.10000000000000000000000000000
x:=2.74607843137254901960784313726
x = 1.73719487437959832272787729873
x = 1.44423809486623193896379583829
x:= 1.41452565514873774122499431255
x:=1.41421359680226932847147453155
x 1= 1.41421356237309546789256872287
x = 1.41421356237309504880168872421 <
x = 1.41421356237309504880168872421
X

) = 1.41421356237309504880168872421
> sgri(2.0);

1.41421356237309504880168872421 <



